Mo -4 ) R (GER%F ¢ 2301-2304)

(kv his= 20239 2w M-k ) RX2R » » pXEH T/ - » ¥
2EAE T ARG 2B EY 2024 8 90 2 - ¥ 2 RX 0 L

YT

FoF 2301 2302 2303 2304
9% 7p 91 8p 91 9p 9% 9p
2 p
(k8e) (587) (58>) (E8H-)
Bt 8 T 6p 3043 T 6p 3041 rE10ME 2 TE2M 3042
e T & 8 pt 30 A T = 8§ 30 A P12 T 4P 304
1 A4 A2EVABE I9F KT h4 2HERTIRS P wd &
Bk
= # W30l 3 = W301 % T E R w R E
TR e RUlERESXE, 2 B Rpj
-5
. IL3E2 ¥ AT RIS RAERBEREY cERIE CREF 2 F
ER R L AL % g4 PR
o F2024 BB - »% %42 & 2 % [Fpf)
PE BT hEEsfpeti
By 9% 5p 91 6p 941 7p 9 7p
p (28 -) (2% =) (%) (28w)

© OFSH PRA AN DR R E T B A e R A SR X L

T

LR RX AR RO RX AR L DA -
o it 3 é._wﬁ]_j_é_‘%}]'/?}j%o
2

jﬁ-% &y P X P (DA B2 (753 kTR iR dh ) o E Rl £ By


https://parenttalk-ebulletin.edb.gov.hk/sc/parents-talks.html?id=66

BEXT &P
¢ ArITEAFRAFIHELEF  AFANIRAFIRELLFALS pAaBL T F
TR RS D RA e (B RF LTI A EHE ET ) 2RSS P

o FETMANME 1 @I TE2pH It
o FEIMANMGE 1 EYITEINI 6MB IR

o TE3MANG 1 @PITEEHAZ ER gt

e FRF AL AP AV AR (TR

HEFA

BRRTAS

LT ]
L b

KT A ABETIRS ¢ ST 4 AEARE 19F c BLY S E A1 B A ke

Py = o4 R (E:Igrd{ #.\.f‘-,il!g;;m#a}{_c‘,u_lé;};‘)
oxedps ¢ 80M -~ 281M

R =25 . 25M -~ 29A -~ 29B
%3
4 A o FT A O P BT BT B

R I iﬁﬁm@

: 2832 7700 & 2832 7740
R HR L : %‘r)‘ﬁié?’r—l:‘(,fs‘;&

¢ 3% 1 3509 7443



